<u></u>		
COST CLAIM NUMBER 718	SUBMISSION DEADLINE DATE October 06, 2022	CLAIM STATUS Approved by Finance
EB# EB-2022-0072: Initiatives: Regulatory Direction and Oversight: Ontario Energy Board	OTHER EB#S	PHASE #* 1
INTERVENOR Dey, Debbie; +1 (416) 864-9700 x.216 ddey@foglers.com	INTERVENOR COMPANY* Building Owners and Managers Association, Toronto: Cooperative	INTERVENOR TYPE Full Registrant
HST RATE ONTARIO 13.00	EXCHANGE RATE	COUNTRY
HST NUMBER R119420859	LATE SUBMISSION ALLOWED	EXTENSION DEADLINE DATE

PARTICIPANTS

New	Non-Filing Participant First, Last Name	Filing Participant	Participant Total (\$) Claim Status
No	,	Jarvis, lan; +1 (416) 915-1530 x.203 ijarvis@enerlife.com	4,847.70 Submitted

ATTACHMENTS

Attachment	Attachment Date	Participant	Document Type	Claim Type	Import Message
Jarvis Invoice.pdf			Invoice		
Jarvis Invoice.pdf			Time		
BOMA EB-2022-0072 Cost Claim 100520221020.pdf			Docket		
TOTAL LEGAL/CONSULTANT/OTHER FEES 4,290.00	TOTAL DISBU	RSEMENTS 0.00			TOTAL HST 557.70
TOTAL CLAIM 4,847.70	TOTAL AMOU	NT AWARDED			
REASON FOR DISALLOWANCE	REASON FOR DISALLOWAN				ON FOR OWANCE - 3
MAKE CHEQUE PAYABLE TO Enerlife Consulting Inc.					
SEND PAYMENT TO ADDRESS 90 Eglinton Avenue East Suite 412 Toronto, ON M4P 2Y3				ATTEN	TION
SUBMIT SECTION					
I am a representative of the Party. I have examined all a incurred and time spent are directly related to the Party					
This cost claim does not include any costs for work don	e, or time spent, b	y a person that is	s an employee	or officer of	of the

This cost claim does not include any costs for work done, or time spent, by a person that is an employee or officer of the Party as described in section 6.05 and 6.09 of the OEB's Practice Direction on Cost Awards.

The information (fees and disbursements) filed in this cost claim is complete and accurate and in accordance with the OEB's Practice Direction for Cost Awards and Appendix A, the Cost Awards Tariff.

SUBMITTED BY Debbie Dey DATE SUBMITTED October 05, 2022

	lan Jai	rvis	October 17, 2022
CASE EB-2022-0072: Initiatives: Regulatory Direction and Oversight: Ontario Energy Boar	COST CLAIM EB-2022-0072 : 1 : Debbie Dey	INTERVENOR NAME Dey, Debbie; +1 (416) 864-9700 x.216 ddey@foglers.com	PARTICIPANT CLAIM STATUS Submitted
FILING PARTICIPANT Jarvis, Ian; +1 (416) 915-1530 ; ijarvis@enerlife.com	K.203 NEW No	NON-FILING PARTICIPANT F. NAME	NON-FILING PARTICIPANT L. NAME
SERVICE PROVIDER TYPE Consultant	YEAR CALLED TO BAR	COMPLETED YEARS PRACTICING/YEARS OF RELEVANT EXPERIENCE 30	HOURLY RATE 330
CV STATUS (FOR CONSULTANT/ANALYST) CV Provided within Previous 24 Months	LAST CV DATE September 23, 2022		HST RATE CHARGED 13.00
HEARINGS No	CONSULTATIONS Yes	DISBURSEMENTS No	

October 17, 2022

CONSU	LTATION								
	<u>Description</u>		<u>Maximum</u> <u>He</u> <u>Hours</u>	ours	<u>Hourly</u> <u>Rate</u>	<u>Sub</u> Total	<u>HST</u> Rate	<u>HST</u>	<u>Total</u>
Consultatio	n Written questions		10.00	8.00	330	2,640.0	0 13.00	343.20	2,983.20
	Preparation for the Stakeholder Conf	erence	2.00	2.00	330	660.0	0 13.00	85.80	745.80
Attendance at Stakeholder Conference Consultation Total		ce	10.00	3.00	330	990.0	0 13.00	128.70	1,118.70
	Total Legal/Consultant Fees					4.290.0	0	557.70	4,847.70
Attachn	nents								
Attachmer	<u>nt</u>	Document Ty	<u>pe</u> <u>Import</u>	Messag	<u>e</u>				
Jarvis Invo Jarvis Invo	•	Invoice Time Docket	t						

Hearings, Consultations, Disbursements Attachments

Attachment

Related Disbursement Claim

Jarvis Invoice.pdf Jarvis Invoice.pdf

Document

<u>Type</u> <u>Claim Type</u> Invoice Consultations Time Docke Consultations

Import Message



 To:
 Ontario Energy Board

 2300 Yonge Street
 Suite 2701

 Suite 2701
 Toronto, Ontario M4P 1E4

 Re:
 EB-2022-0072-Enbridge Gas Inc. Annual Update to Five-Year Natural Gas Supply Plan

Date: Tuesday, October 4, 2022

90 Eglinton Ave. East, Suite 412 Toronto, ON M4P 2Y3 Canada Tel: 416.915.1530 Fax: 416.915.1534

				Invoice:	3613
Date	Hours		Description	Rate	Total
Sunday, May 1, 2022	1	Analyst/Consultant/Case Mgmt Ian Jarvis	Review material for written questions	\$330	\$330.00
Thursday, May 5, 2022	2	lan Jarvis	Review correspondance and prep for meeting	\$330	\$660.00
Friday, May 6, 2022	3	lan Jarvis	Prep and attend meeting	\$330	\$990.00
Tuesday, May 24, 2022	7	lan Jarvis	Review correspondence, draft final BOMA commentary/questions	\$330	\$2,310.00

	\$4,290.00
HST	\$557.70
Total Amount	\$4,847.70

Payment due upon receipt of invoice. Please make cheque payable to Enerlife Consulting Inc.

lan A. Jarvis President



 To:
 Ontario Energy Board

 2300 Yonge Street
 Suite 2701

 Suite 2701
 Toronto, Ontario M4P 1E4

 Re:
 EB-2022-0072-Enbridge Gas Inc. Annual Update to Five-Year Natural Gas Supply Plan

Date: Tuesday, October 4, 2022

90 Eglinton Ave. East, Suite 412 Toronto, ON M4P 2Y3 Canada Tel: 416.915.1530 Fax: 416.915.1534

				Invoice:	3613
Date	Hours		Description	Rate	Total
Sunday, May 1, 2022	1	Analyst/Consultant/Case Mgmt Ian Jarvis	Review material for written questions	\$330	\$330.00
Thursday, May 5, 2022	2	lan Jarvis	Review correspondance and prep for meeting	\$330	\$660.00
Friday, May 6, 2022	3	lan Jarvis	Prep and attend meeting	\$330	\$990.00
Tuesday, May 24, 2022	7	lan Jarvis	Review correspondence, draft final BOMA commentary/questions	\$330	\$2,310.00

	\$4,290.00
HST	\$557.70
Total Amount	\$4,847.70

Payment due upon receipt of invoice. Please make cheque payable to Enerlife Consulting Inc.

lan A. Jarvis President